Parts List .«..x:

Epap Uk

Model: JHC230U K=Y RARI—F 523684
JHC230U(Y13)



HaTRODITHERIZDINT

1. BRSO TEX DB

wiEs (BX) - BARES - BBHREW - MEZTHEZEL,

INTEATIAS (X RI R DR TR E SRS,

MamlEwnd THRILFIESR ] Z23HERATIZEL,
AERRIFEBLEZLDEHYFET .
ABRREIBBEDAFELEERTLIENAHYET,

Fig. DFRRIZTDNT

ASARM—=UIZ Fig. XXSRBERRLTHYFET, <D XX [FAFAM—=D
ELORBLEZSERLFET .

o 0 & 0N

EP/Y
/, /\o_:)

L N 7 NN 1~2
2T (U295 =R DUDE L Q) 3~6
B IUTVY (NAAILABZ =) e 7~8
4. T (FxTLA, TT70U—F. BEEDD) e 9 ~ 10

LR 1 TR oSS 11 ~ 12






1. JHC230U, JHC230U(Y13)
A K




A:JHC230U, B:JHC230U(Y13)

BHES | HRES %8 & W . s ' B =
1-1 364082 | JHC230U 1
1-1 364230 | JHC230U(Y13) 1
1-2 227923 | TUNTIYVY 1 1 | 7X1523L SP-18
1-3 227925 | £ )V UN4hUvbA 1 1
1-4 215532 | kv44=%") 1 1
1-5 054691 | VUhT5 9347 1 1 [6794
1-6 089738 | 6 hHf Lk (+ 77 €Y ) 1 1 | M5x15
1-7 215418 | NN IWMYTHTI H34T 1 1 |8744
1-8 092561 | 6 hYF L+ (+)SW 6 6 | M5x25 77 tYb
1-9 228077 | ¥ ¥h—-A93487 1 1 |10~ 16 794
1-10 | 234247 | 6 hoi ILb 1 1 | M8X8
1-11 | 092550 | 6 A9 ILb (+)SW 1 1 | M5x25-7T
1-12 | 212986 | NEJiR'RA A 1 1
1-13 | 219195 | AE/HA B 1 1
1-14 | 215610 | 6 H4& b WSW 1 1 | M8x22 t4™)
1-15 | 222128 | ¥¥9Y%KHUNY 1 1
1-16 | 222129 | 49E'v2ry 1 1 | 5x20
1-17 | 089737 | 6 h9k'ILb (+ 77°EYh) 1 1 | M5x12
1-18 | 220549 | F194(3—) 1 1
1-19 | 234293 | 2—L7L—} 1 1 | JHC230U
1-20 | 231654 | nNJv—Y 1 1 |ECO
1-21 | 225749 | AnUN LTI 1 1 | e4Yy
1-22 | 225751 | nUN LTI 1 1 3%
1-23 | 215584 | ANV A{YF 1 1
1-24 | 222138 | A{YFhN'— 1 1
1-25 | 232956 | MJhH34T (T16) 1 1
1-26 | 232966 | AAYMLLA— (T16) 1 1
1-27 | 233461 | 7{¥<hA 1 WFr=7" ) 710X64
1-27 | 235026 | J4¥ VA 1 [ IWFr—7")b 710X86
1-28 | 220533 | hahrN U 9347 1 1
1-29 | 222821 | ¥ AAVAN=H34T 1 1 30794
1-30 | 092561 |6 HHdk Ik (+)SW 2 2 | M5x25 77°tYb
1-31 227509 | FY7Y-9 1 1




2. JHC230U, JHC230U(Y13) ToPv
DS —R, DYUE ., aAdI)L

AT

11

zzzzzz




A:JHC230U, B:JHC230U(Y13)

BHES | HRES w8 & A@ﬁ ' B =
2-1 859124 | Iy 1 CE230/62
2-1 859260 | IVY'Y 1 | CE230/73
2-2 288499 | ¥Jy43v77)—} 1 1
2-3 286074 | B ANk 1 1
2-4 261250 | 6 h97F+Y+HK Lk WSW 4 4 | M5x20
2-5 265802 |{vv1lL—4 1 1
2-6 267049 | B ANYL 1 1
2-7 265924 | 2411 2 2 | M5x0.8x25
2-8 287642 | ¥757tV7"Y 1 1
2-9 287645 | ' ANYb 1 1
2-10 | 266607 | 249Y1 2 2 | M5x45
~11 289523 | kY7 i - 1
-11 289919 | b7 hi - 1
-12 | 269828 | FA1%Y (+)W 1 1 | M5x16W
-13 | 269827 | FA14Y (+)WSW 1 1
2-14 | 289246 | 4509h—-A 1 1
2-15 | 280488 | A 7YYy 2 2 | PPL 6001
2-16 | 261492 | A4LY—I 1 1
2-17 | 261386 | A4ILY—I 1 1
2-18 | 055185 | C fi4bAT 1 1 |7+37 28
2-19 | 261612 | 6 W97 FYFHK L WSW 3 3 | M5x30
2-20 | 268032 | E'AbY 1 1
2-21 282177 | BRI 2 2
2-22 | 261036 | E'AbUE"Y 1 1
2-23 | 263957 | Z—PFLATYUY 1 1
2-24 | 261576 | #=49Yy7’ 2 2
2-25 | 268187 | 9709Y%72b3077)—F 1 1
2-26 | 284786 | H939F7tY7) 1 1 (27 ~ 29754
2-27 | 284702 | 97VFKA 1 1
2-28 | 284787 | H39Fva 2 2
2-29 | 286554 | A7YUY 2 2
2-30 | 284706 | A7YuY 1 1
2-31 284704 | YUY 1 1 |5.1x14x1.2
2-32 | 285220 | A4Y1 1 1 | M5x10
2-33 | 288006 | 77UhnN-T+tY77) C 1 1 |34~ 36794
2-34 | 287648 | 77 N — 1 1
2-35 | 280314 | 979FN7L3Y77)—F 1 1
2-36 | 014210 | C H'4bAT 1 1 |S10
2-37 | 269831 | FAI%Y (+)WSW 4 4 | M5x20WSW
2-38 | 282215 | Hyy7° 1 1
2-39 | 281169 | A% 1 1
2-40 | 288660 | v/ &h7EY7Y 1 1 |41 ~ 49 794
2-41 287900 | 0—4% 1 1
2-42 | 288197 | 4142934 TEY7Y 1 1 |43 ~ 49 794
2-43 | 281706 |34 1 1




2. JHC230U, JHC230U(Y13) ToPv
DS —R, DYUE . aAdI)L

A2

11

zzzzzz




A:JHC230U, B:JHC230U(Y13)

BHES | HRES w8 & W A‘m ' B =
2-44 | 283732 |31-F7tY7Y 1 1 |45 ~ 47 794
2-45 | 283733 |1-F 1 1
2-46 | 261075 | 794 1 1
2-47 | 261074 | 7739 %¥v7° 1 1
2-48 | 261072 | ¥yv7 1 1
2-49 | 280080 | F1-7 1 1
2-50 | 261076 | nUF WE— 1 1
2-51 284703 | ¥ 7b 1 1
2-52 | 280381 | AA—% 2 2
2-53 | 261256 |6 h9T7FYFHK L WSW 2 2 | M4x25
2-54 | 286739 | AN=497"3Y 1 1 | CJ6Y
2-55 | 263804 |-} 1 1
2-56 | 282880 |!-F 1 1
2-57 | 280670 | #°AAYk 1 1
2-58 | 264588 | 457 1 1
2-59 | 269705 | 3N 1 1 | %7y hxr oty
2-60 | 289774 | A4Y1 1
2-61 261878 | +9b 1




IOV

3. JHC230U, JHC230U(Y13)
JaA JLRAR—A




A:JHC230U, B:JHC230U(Y13)

HaEs

B M &

Sk

wE &=

287864
287649
283504
283505
283506

283507
267213
288169
283509
287651

283511
280934
265724
289525

YA RE=47 107"
A4=47177)

)=

ATLh

I VYAIVY)

ANATVAT VY
EYPRIYL
-77t,7"
A4—40-7
A3=4)7

D0—707\|““/l\i
717107
A1

N

— et — —h —) — et — — —) >

—L_h_k—k

— ek )t )t ) — ek )t )t ) >8]

g Sy

2 ~12794
3~ 11794

9~ 11794

M4x25WSW
JHC230U




IOV

FyILE, ITT70)—F. BEELY

4. JHC230U, JHC230U(Y13)

17

19

IIIII

16

X

B

\\/ujx: W)/ 2




A:JHC230U, B:JHC230U(Y13)

BHES | HRES w8 & . s ' B =
4-1 287865 | ¥Y7°L4TtU7Y) 1 1 |2~15794
4-2 263739 | KV TA 1 1
4-3 262991 | N—=V'R T4 1 1
4-4 262992 | kU7 hinv— 1 1
4-5 261874 | 7'74% 1 1
4-6 283905 | 4°4¥77L 1 1
4-7 262993 | I ANYE 1 1
4-8 262994 | #°4¥77L 1 1
4-9 282576 | H'ANYb 1 1
4-10 | 288187 | ¥'IYh 1 1
4-11 261871 | O vy 1 1
4-12 | 261876 | 9" 1 1
4-13 | 261658 | Z{A')L 1 1
4-14 | 264682 | 24911 2 2
4-15 | 262996 | 2411 4 4
4-16 | 288141 | H A4Yh 1 1
4-17 | 265575 | 9)—+7€7) 1 1 |18 ~ 20744
4-18 | 264709 | H)—Fhn'— 1 1
4-19 | 265576 | H—A7tY7") 1 1
4-20 | 264695 | ILAVH 1 1
4-21 264691 | O vy 1 1
4-22 | 269834 | FAIRY (+)WSW 2 2 | M5x60WSW
4-23 | 287866 | 4v9T7tY7) 1 1 |24 ~ 34794
4-24 | 287646 | 71—-I)LAVY 1 1
4-25 | 281565 | 4u9%vv7°7tY7Y 1 1 26754
4-26 | 269377 | NYEY 1 1
4-27 | 261696 | 7Y—%"434T 1 1
4-28 | 265752 | 2VYAYNATTEUTY 1 1 (29 ~ 34794
4-29 | 264031 | NA{7H34T 1 1 130~ 32744
4-30 | 261115 | 4'OAp 1 1
4-31 261690 | #YY3AINA7’ 1 1 | 160L
4-32 | 263038 | A—n"70-n'47" 1 1
4-33 | 264653 | 7447 €Y7 1 1
4-34 | 261117 | 4wy’ 1 1
4-35 | 269828 | TAIRY (+)W 2 2 | M5x16W
4-36 | 281208 | TA %Y (+)W 1 1 | M5x16W A9%
4-37 | 289576 | A 1 1 [ 90Ty UMY
4-38 | 280020 | AN IWLYUY

-10 -



5. JHC230U, JHC230U(Y13)
/&

-1 -



A:JHC230U, B:JHC230U(Y13)

HaEs

B M &

Sk

>

o

& &

221460
220534
210418
219431
022865

233462

HI AN %
nhiv—
IVERYIRANT
6 NYRIANT
JA9GFANT

MTIRLEY AT

— )t — —h —)

— ek )t )t )

AN 3
8x10

JHC26U/J-1

-12-



22 LU EThH
BHEFRERED
Ay FE—- bt s2—: EE 0120-898-114
ZFIFIEHRY: AN9:00~PN5:00(+. B.#1H 2% <)

Printed in japan 2013-08.J

EHENEETY



